
Curl shelves (100865)



 Washer:(φ10)

16X

   Lock Nut:(M10)

   Hex Bolt:(M10*70)

8X

8X



Maximum load:130kg

520mm
460mm

56
0m
m-
71
0m
m



1
   Lock Nut(M10)
      -8PCS

 Washer(φ10)
   -16PCS

   Hex Bolt(M10*70)-8PCS

M10*70

M10

φ10

φ10

M10*70

M10

φ10

φ10

M10*70

M10φ10

φ10

M10*70

M10φ10

φ10

M10*70

M10

φ10

φ10

M10*70

M10

φ10

φ10

M10*70

M10φ10

φ10

M10*70

M10φ10

φ10


